FHRANSIHEEZP-FH1EFI2025F4H8H18A302%

ELERS i3 AR RS AR ER ARIE S FRIE ERNEIARN | FRETR | BiAEe | SMEE | Wi | WSR2 | MidEs | §iF
104875000141579 g 120 ERMEHREZ2RIZH0 085501 UM IE 2R% 7 54 36 104 102 296
100065210503558 B 140 i X 085407 | {XBE{NEIRE 2R% 7 55 49 105 70 279
102485122517937 Bk 260 BRAR R RATTb 085601 IR e 7 62 58 83 94 297
100085210005423 B 140 W7 A 080500 | #KIRIFS5TE R4 7 50 45 84 99 278
100035599114335 =* 130 TeRMNERERLRE 085601 IR ES=r] 7% 59 48 134 103 344
100045110401087 R 210 el 085407 | {XBE{NEIE 2R% 7 60 46 85 130 321
101455000003577 G 160 MR AR R SR 085603 asTE R4 7 64 61 97 115 337
100065210102490 F* 120 ERMHRERERIZ 0 085501 TR ES=r] 7 63 56 99 74 292
100085210003176 FHiz 140 TR 085601 HRTIRE 2R% 7 57 53 73 93 276
100085210007621 % 210 ite=ellEsealt 085407 IXERNERT R e % 61 56 72 123 312
100085210000307 = 120 ERMEHREZERIZH0 080600 asTE 2B% 7 57 69 69 91 286
101455000014064 B 130 MEBMHERESRTRE 080500 | #FKIRIF5TE 2R% % 70 48 92 106 316
144305132000022 BaR 210 el 085407 | {XBE{NEIRE R4 7 58 60 98 95 311
102485122511816 B3B8 130 TeRMNERERLRE 080500 | #HIRIFE5TIRE ES=r] 7 64 45 100 124 333
105615021004585 FE 210 [[igeAelE el 085406 = T8 ES=E % 71 60 85 111 327
100085210000966 B 210 el 085407 | {XBE{NEIRE R4 7 56 74 95 99 324
106145085605223 FHE 130 TeRMMEREMRLRE 085601 IR ES=r] 7% 62 49 104 134 349
105325135001974 Ei S 160 MR AR R SRR 080200 U IE 2R% % 66 34 99 105 304
102485122518154 B, 130 TeRMHNERERLRE 080500 | #HIRIFS5TIRE e 7 58 52 89 133 332
100195370607862 B8R 270 ERAFTE 090100 =7 2R% 7 55 35 132 88 310
105335431514291 plig= 160 MR AR R SRR 085603 aeTE 2R% % 67 43 68 127 305
104235130310773 T 270 EARAFTRE 086001 | LIRS R4 7 52 45 90 89 276
100035035102584 218 130 HERMHERERTRE 080500 | #KIRIFS5TE 2R% % 58 63 112 97 330
103075210106281 = 270 EMRWIATE 090100 =7 2R% 7 64 38 134 95 331
102135000003452 B 120 ERMEHREZ2RIZH0 085404 HEMEA 2R% BRtR 75 49 90 87 301
104875000135722 2R 140 TRERATHR 085601 METIE ES=E % 55 70 95 94 314
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101455000015499 B*F 130 FEBRMEERERLRE 080500 | #MRIREE5TE ES=E 7 71 44 92 121 328
100135064010249 7 160 BRI A DR IFTHO 085407 1EENERTRE ES=E Btk 55 47 94 97 293
106995421219072 nje> 260 BIAR R FRATHREE 0805J5 | #KRIESTIE R4 7 65 52 100 103 320
105325514608117 FF 210 lte=ellEsealtd 085901 TARTRE ES=r] 7 63 68 80 128 339
104875000131748 s 140 TERATHR 085601 IR e 7 65 67 70 77 279
102135000004698 B+ 210 [[igeAelE el 085406 = T8 ES=E 7 74 50 113 111 348
102855210007232 B* 260 AR YRR 0805J5 | #KRIFE5TE ES=r] 7 66 40 96 101 303
105615021008835 HE 260 BIAR R R AR 085601 HRTIRE 2R% % 71 42 124 134 371
103355000920184 P 270 ERAFTRE 090100 =7 R4 7 59 59 78 109 305
102485122520453 5317 130 TeRMMERERLRE 085601 IR ES=r] 7 65 64 112 97 338
103355000910083 == 160 BRI A D EIFTHO 085407 IXNERIGERTRE e BRtE 67 47 82 131 327
100085210001117 B+ 140 W7 A 080400 | {XEsRIZEHA R4 7 53 45 83 118 299
105325110808048 'R 210 [[igeAelE el 085901 TARTHE ES=E 7 71 59 126 113 369
101455000007692 e =1 160 MR AR R SRR 085603 aeTE 2R% 7 58 57 89 123 327
100045110401348 3K* 210 [[igeAelE el 085402 ((AmHMLES. s  £BH 7 51 52 91 127 321
100085210000532 =3 210 el 085407 | {XBE{NEIRE 2R% 7 54 43 91 125 313
100065210100857 = 140 TR 080200 U IE 2R% 7 54 49 108 71 282
101415153101843 Egi 140 TR 080600 asTE R4 7 69 45 75 109 298
106105085900122 BEER 010 TAREEREIIEER 085901 AT 2R% BRtE 57 53 93 106 309
100075000010937 T 140 TR 080500 | #FKIRIF5TE 2R% 7 53 48 96 93 290
106995613321122 ] 130 FeRHERERIRE 085601 MEIE ES=E I 62 54 116 114 346
106135081000101 1755 210 el 085406 =T 2R% 7 70 73 100 100 343
101835214302377 BE 140 TRERATHR 080500 | #HIRIFS5TIRE e 7% 70 39 97 118 324
100085210008507 pUid 120 ExHIRER 2R SR 080200 UM IE 2R% % 58 63 80 104 305
100045110401395 Si::] 210 el 085402 |((AmHME. %3 <BH 7 60 54 92 115 321
107015611300670 o 210 e nealid 085402 ((BE®ML. Bz <HH 7% 64 46 117 105 332
104875000133673 i 210 el 085402 |((AmHME. %3 <BH % 57 44 104 115 320
101455000017116 =) 4 120 ERMEREZERIZH0 085603 asTE 2R% 7 68 45 77 106 296
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106995411918499 3K*iH 140 i X 085601 HRITIRE 2R% 7 57 44 100 79 280
102865321809088 BT 260 BIAR R FRATAREE 085601 HRTIRE 2R% 7 64 51 105 128 348
100135134070045 P 210 el 085407 | {XBE{NEIRE R4 % 60 62 82 105 309
104225510106436 2+ 260 BIER R 080500 | #HIRIZE5TIRE ES=r] 7% 61 44 106 117 328
100085210008966 2547 160 MR AR IR SRR 080400 | {uEERIZEEREA 2R% 7 55 44 104 125 328
101455000002993 e 160 MR AR R SR 085603 asTE R4 7 61 38 93 137 329
101455000017094 7 160 MR AR DR SR 085603 asTE 2R% 7 61 38 92 119 310
106995111013485 FHE 260 BNEAR R 085601 IR e 7% 62 50 106 93 31
102475321408227 FrHig 160 R AR E ST 085603 AeIR e 7 50 57 92 102 301
103585210001377 Fe*is 160 MBI A D EIFTO 085407 IEEERTRE ES=E BEetE 63 37 100 122 322
105615021006226 WAL 120 ERMEHREZ2RIZH0 080200 U IE 2R% % 69 56 89 72 286
100085210000986 o 120 ExHIRERERSERD 085501 UM IE R4 % 54 58 87 105 304
107015411710838 D 210 lte=ellEsealtd 085402 ((BEHMLE. Bz £BH 7% 57 59 101 116 333
100065210504386 B 100 SRR 120400 AHETE 2R% % 63 52 124 129 368
102465614715981 TR 160 SRR AR E ST 085603 AeIR e % 60 74 98 87 319
101455000013943 Froig 160 R MER AR IR SR 085603 asTRE 2R% 7 66 46 87 116 315
101455000003563 o 140 TR 085601 HRTIRE 2R% 7 62 61 102 106 331
100565019214314 fehr=p 130 MR HERESRTRE 085601 HRTIRE R4 % 65 43 118 107 333
104225510106314 5 130 eRMMERERLRE 085601 IR ES=r] 7% 50 48 112 134 344
100085210000979 TSE 210 el 085407 | {XBE{NEIE 2R% 7 55 63 70 123 311
100195130502611 = 100 SGRERR 120400 NIEEE R4 7 51 48 128 127 354
105335620814386 FEiE 160 R MERAR R BT 085603 asTE 2R% 7 67 52 69 115 303
104225510913325 e 130 HeRMHERERTRE 085601 IR e 7% 65 52 94 131 342
102865142506213 e 260 BIER R 0805J5 | HKRIFSTE ES=E 7 75 46 120 142 383
101455000003269 B2 260 BIAR R FRATHREE 080500 | #KIRIFS5TE 2R% % 63 40 90 107 300
100195134603582 Bl 270 EARAFTRE 090100 =7 2R% 7 53 48 127 95 323
100035599114345 FHR 130 HERMHERERTRE 080500 | #FKIRIFS5TE 2R% % 55 64 73 116 308
105335321705390 3> 010 TAREEREIIEER 081400 o NI 2R% % 72 44 85 81 282
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100065210501936 1% 5% 260 BIAR R FRATHFEE 0805J5 | #KRIZESTIE 2R% 7 54 34 134 80 302
102475411313001 | 120 ERMHRERERIZEH0 080200 IR e 7% 64 56 71 103 294
102935210100930 FE 210 ite=ellEsealt 085402 ((BE®ML. Bz £HH 7% 46 70 95 115 326
103585210003354 e 130 HERMHERERTRE 080500 | #KIRIFS5TE 2R% 7 54 36 123 102 315
101455000006424 FE*BR 130 MEBMHERESRTRE 085601 HRTIRE 2R% 7 62 42 97 109 310
102475340610689 ) 120 ExHIRER SR 080200 UM IE R4 % 55 68 87 96 306
102485122519375 B 130 MR HERERTRE 085601 HRITIRE 2R% 7 57 47 102 106 312
105045101902717 =i 270 EMRIFARER 090100 (= ES=F:] 7% 57 37 117 110 321
102845210523363 2k 100 SRR 035102 | & (%) R4 % 73 75 97 126 371
105585768101584 fig* 130 HERMHERERTRE 080500 | #KIRIFS5TE 2R% % 70 40 110 116 336
102485122511073 R 130 heRMHERERTRE 080500 | #HIRIFS5TIRE e 7 55 55 101 122 333
102465421212663 i 160 MR AR R SR 085603 asTE R4 7 57 77 74 114 322
100075000001006 Rl 210 el 085406 =T 2R% % 56 60 104 112 332
102865330311814 P53 260 BIAR R FR AR 085601 HRTIRE 2R% 7 60 48 96 117 321
101415210802605 B 120 ERMEHREZ2RIZH0 070200 Ly R4 7 56 63 89 80 288
101455000014783 Eli 130 TeRMMEREMRLRE 085601 IR ES=r] 7 65 43 114 117 339
105615021008214 B 130 MEBMHERESRTRE 080500 | #FKIRIF5TE 2R% 7 67 49 116 116 348
103355000926685 &G 260 BIAR R FRATHREE 085601 HRTIRE R4 % 69 34 91 104 298
104225510913185 & 130 eRMMERERLRE 085601 IR ES=r] 7% 55 66 105 102 328
100085210005720 i3 160 MR AR IR SRR 085407 | {XBE{NEIE 2R% 7 54 59 99 104 316
104225510913411 K% 130 FeRHERERIRE 080500 | #MRIREFS5TE ES=E I 57 58 100 118 333
100805180106372 4l 140 i X 085601 HRITIRE 2R% 7 65 44 65 95 269
103845211111945 RS 160 BRI A DR IFTHO 085501 I ES=E I 61 74 105 138 378
105335413414364 FB 160 MR AR IR SR 085603 asTE 2R% % 52 48 116 140 356
100085210008028 T 140 i X 085601 HRITIRE 2R% 7 52 46 92 113 303
102135000004659 IR 210 [[igeAelE el 085406 = T8 ES=E % 71 54 118 107 350
100065210102305 H*E 100 SGRERR 120400 AHEE 2R% % 64 55 119 119 357
102695110804967 B4R 120 ERMHREZERIZ 0 085501 TR ES=r] 7 62 65 92 82 301
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105585768101587 Fig 130 HERMHERERTRE 080500 | #KIRIFS5TE 2R% % 70 68 102 86 326
106145085603263 B* 130 MEBMHERESRTRE 085601 HRTIRE 2R% 7 62 47 108 127 344
103355000910695 EE 240 BRI 080500 | #KIRIFS5TE R4 7 63 57 103 91 314
104875000131273 a5 140 TERATHR 085601 METIE ES=E 7 53 57 71 92 273
104875000130009 SR 210 el 085402 |((BmHME. ®r <BH % 51 54 119 99 323
104225510913249 R 130 TeRMHNERERLRE 085601 IR e % 58 43 117 128 346
104225510106405 Z= 130 MR HERERTRE 080500 | #KIRIFS5TE 2R% 7 61 50 97 113 321
100085210008547 = 210 el 085407 | {XBE{NEIE 2R% 7 51 49 109 114 323
106995321216207 BHE 140 W7 A 080500 | #FKIRIFS5TE R4 7 59 49 106 115 329
106985517118106 B 100 XiEF B 120400 AHEES ES=E:] 7% 69 68 116 121 374
106145080405150 =R 160 MR AR IR SRR 085407 | {XBE{NEIE 2R% % 66 47 121 126 360
102485122501079 XU*g5 130 TeRMHNERERLRE 085601 IR e 7 61 40 86 122 309
102485122501079 Pl 160 R MER AR R SR 080600 asTRE 2R% 7 61 40 86 122 309
100085210004840 B8 140 TR 085601 HRTIRE 2R% 7 48 37 86 129 300
100085210007538 S 140 TR 085601 HRTIRE R4 % 62 55 95 127 339
102885100002080 iz 160 R MER AR IR SR 085603 asTRE 2R% % 58 79 66 133 336
102485122511325 R 120 ExHIRERERSEHRD 085501 U IE 2R% 7 57 67 92 78 294
100085210007106 BN 160 SRR AR E ST 085407 IXERNERT R e 7 52 39 120 122 333
102135000009637 Bt 160 MBI AN E IFTO 080400 | {U=ERIZSHA ES=r] I 72 40 114 130 356
105335211914327 EHE 160 R AR E ST 085603 AeIR e 7 57 38 112 132 339
100195370107251 =% 100 XiEF B 120400 AHEES ES=k:] 7 67 51 109 111 338
106995210915355 M 260 BIAR R FRATHFEE 085601 HRITIRE 2R% 7 60 52 81 88 281
100565010112231 R 210 e nealid 085402 ((BE®ML. Bz <HH % 57 67 82 121 327
103585210004031 E 130 HERMHERERTRE 080500 | #FKIRIFS5TE 2R% 7 61 47 92 130 330
104875000132811 i 260 AR YRR 0805J5 | #KRIFE5TE ES=r] 7 53 53 110 118 334
104225510913097 BE 130 heRMHERERLRE 080500 | #HIRIFS5TIRE e 7% 63 64 79 110 316
100085210004079 B 210 el 085901 TARTIRE 2R% 7 61 50 80 138 329
102485122517476 HAME 130 FeRHERERIKE 080500 | #MRIREETE ES=E I 61 53 104 124 342
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100085210004656 2 260 BIAR R FRATHFEE 080500 | #KIRIFS5TE 2R% % 54 48 103 97 302
106145085417161 a5 160 BRI A DR IFTHO 085407 IXERNR TR e 7% 59 61 110 84 314
105335431314270 45 160 R MER AR R BT 085603 asTE R4 7 62 67 66 143 338
106995611211964 XU 120 ERTRREZERZHR0 085501 I ES=E 7 61 62 99 86 308
100085210010103 3+ 100 SGRERR 120400 AHEE 2R% % 55 54 121 126 356
100085210008458 = 140 W7 A 080500 | #FKIRIFS5TE R4 7 57 35 67 129 288
105615021017450 FVER 240 BRI 080500 | #MRIREE5TE ES=E I 61 39 97 119 316
102485122516545 B* 010 TAERFETIREFR 081400 TARTRE e 7 62 65 56 124 307
100035035102590 Cig 130 MR HERESRTRE 085601 HRTIRE R4 % 58 67 104 79 308
102475515115466 T 010 IARSERTEZ6 081400 TARTRE ES=r] 7 57 44 106 128 335
100195111900753 F* 100 iEF B 120400 AHERES ES=F:] 7 65 44 129 117 355
106115000900029 5% 240 LI 080500 | #FKIRIFS5TE R4 7 65 50 125 85 325
100085210007106 EBE 210 el 085407 | {XBE{NEIRE 2R% % 52 39 120 122 333
100085210000253 B 160 MR AR R SRR 085603 aeTE 2R% 7 55 76 72 120 323
100135047220012 =) 160 BRI A D EIFTHO 085407 IEENER TR ES=E BEtR 54 42 89 130 315
102865360114699 E3yES 260 BIAR R FRARTAFEE 085601 HRITIRE 2R% % 61 43 123 128 355
102845213705346 EFK 210 el 085406 TR 2R% 7 64 68 99 108 339
101455000001318 B*IR 140 TR 085601 HRTIRE R4 % 65 47 83 113 308
100055110502238 a2 090 ZREESIR 125100 TryesE FELBH x 126 40 0 0 166
102935210111854 g 210 [[igeAelE el 085402 |((AmHMES. s £BH 7 58 66 103 112 339
101455000000434 EH 130 TeRMHNERERTRE 085601 IR e % 70 42 100 128 340
100085210001195 = 140 i X 085601 HRITIRE 2R% 7 52 54 87 116 309
102485122516893 ZE 130 HeRMHERERTRE 085601 IR e 7 66 41 110 122 339
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